Attempt ......... questions

'u Shape part of Renal Tubules is called:

(a) Neuron (b)Pyramids

(c)Loop of Henley (d)Cortex

® Water Lily is example of:
(a) Halohpyle
(c) Xerophyte
3 Functional unit of kidney is:

(a) Renal Pelvis (b) Nephron

(c) Bowman's Capsule (d) Renal Medulla
4 The name of tube between kidney & urinary

bladder is:
(a) Ureter
(c) Renal Tubule

(b) Urethra
(d) Nephron
> Ribs which protect the kidneys are:

(a) First two (b) Last Two

(c) Middle (d) Last Four

6 The loss of water in the form drops from tips of

leaf is caleld.
(a) Evaporation

(c) Guttation (d) Exgertion

7 In an adult man the averageutine formation in a

day is:
(a) 4 (b) 1.3
(c) 1.4 (d)3
8 Amount of Urea in normal chemical composition
is:
(a) 93 g1 (b) 1.87 g/l
(c) 1.17 g/l (d) 0.75¢g/1
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(b) Hydrophytes
(d) Mesophyte

(b) Tran§piration
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